WZINEZ (2017/10/26)

1. (82) (a) f(z) = =2, K f'(z). (b) g(x) =Inlnz. & ¢'(5).

cosx”

1. / _ cosz(cosz)—sinz(—sinz) _ cos®ztsin’z __ 1
sol: (a‘) f (33) - cos2 x - cosZ x T cos?w

(0) ¢'(@) = 53 = 5230 90) = 55

=sec’z

2. (69) B3R f(z) = (1+22)'° 7 = = 0 BBEVRILEE, WEE 1.0041°.

sol: - f(z) ~ f(a) + f(a)(z - a)

F(z) = d(l—:le)lo _ 2(1(;210 =22 o 109 = 20(1 + 2z)°

dx
f(0)=1, f(0) =20 = f(x) =~ 1+ 20z (when f(z) around 0)
1.00419 = (1 + 2% 0.002)° ~ 1 + 20 % 0.002 = 1 + 0.004 = 1.04

3. (623) FBBEBMDR «° +¢° =2 728 (1,1) LIRS ER,

sol: 322437 %L =0 = P ==2 = y/(1,1) = -1

y—-1)=—(z-1)=>y=—-xz+2



